SHM5FE11A19H X% Bh

A mRER iR BOEHANI-5T
LEZRE Tk XK
A0SR
J—-Ab—b FAE=BF71. 9 AIF=>A72. 0 AfE—>KFA72. 3
| K & ouT IN TOTAL| H'C NET fi & {XPR
BE| Btk | 36 39 75 5 70 |=—=orn| #E
2 il | WREEE 44 39 83 13 70 HEER
3 i BE 43 39 82 11 71 #iEE
4 | @ EZB | 38 43 81 9 72 |noscrsi| B
56| ®ER 42 43 85 13 72 |==vsra| #IL
6 fi #iE % 40 37 77 5 72 HEER
76| A B— 39 42 81 8 73 #iEE
8| H\K#B= 39 42 81 7 74 |noFrta| HEE
Ofi | #ii| Xk 40 43 83 9 74 |=—=oru| WHE
10 fif| ®3t fum 36 38 74 0 74 |noF«iti| R
11 | s HPE 37 39 76 2 74 |==ore| #E
12 | P E&% 42 41 83 9 74 |z—=v7iu| $HEE
13 fif| 4 B= 41 37 78 4 74 i3
14 {iI| XM &M 40 39 79 4 75 |z—=vriu| $HEE
15 iI| WK & 45 41 86 11 75 WER
BOER
J-Ab—b FE=BIF71. 9 BIF=>A872. 0 AfHE—>KFA72. 3
g K & ouT IN TOTAL| H'C NET R {£FR
B8 | &k 42 42 84 18 66 i3
2 (| (% iES 45 54 99 28 71 MEE
3| HE =k 44 48 92 19 73 WEER

401 | RE#Rk 40 50 90 15 75 |z—=v7iu| $EE

5| WHRHE 46 53 99 24 75 |F-=vvtu| #EE

60| &HE= 46 49 95 20 75 |=—=v7tu| HEE
7| EEEE 46 47 93 18 75 |=—=v7ru| BR
8| KB K# 48 43 91 16 75 mEER

Ofii | HE RS 49 52 101 25 76 |=—=v7tu EERR

10 fi| Mm@ RE 47 49 96 20 76 |z-=v7to| HEER




SHM5FE11A19H X% Bh

B RER BB BOEALN-957
LMEES Tl Wi
55F ~69F N

H 3-AbL-bk FAE=>HF70. 2 fllF=>A%E70. 5 AE>FAT70. 5
R 3—Ab—bk FHE=HF69. 0 BlF=AHE69. 1 AE>KH68. 9

B 1| K & OUT | IN |TOTAL| H'C | NET | f&% | @&
BB BEHH 42 44 86 21 65 i
2| WK# 41 46 87 19 68 i
3| Mz 43 43 86 17 69 [z—=rin) WEE
46| ERE 44 42 86 17 69 WEER

5| #AE &R 41 43 84 14 70 |z-=7iu| $HEE

60| F &KX 41 39 80 10 70 |=—=v7rw| BER

7fn| mmx® | 46 | 43 | 89 | 19 | 70 WER
8fi| A#BA— | 41 | 46 | 87 | 16 | 71 |=—=a| wmR
ofi | amm® | 49 | 41 | 90 | 19 | 71 WER
10 fiI| E£&=H 46 45 91 19 12 |z=oru| #HEE
1162 ®mam | 50 | 48 | 98 | 26 | 72 WER
1261 FHmMx | 47 | 45 | 92 | 19 | 73 |==»:6 wimR
13| w&#xma | 53 | 50 | 103 | 30 | 73 WER
14| =@M 44 47 91 17 714 |==vra| I
1561 mN7— | 48 | 49 | 97 | 23 | 74 T
70FLIE&LF1ADH
Bit (£) I-ZL—b FESRF67. 9 MIF>EE6S. 1 HESHKE67. 8
sm #) I—ZL—k FE>BIF65. 6 HIF>ERE5. 7 BESHEES. 5
a-Ab—bk FH=HIF70. 8 llF=>A%E70. 4 AE->FKA71.0

(

(3K)
% (97)
'aftls*.. (B6) —AL—b+ FH=HIF69. 5 HlF=>A#68. 7 AE->KAH69. 4
i (8]) 3—Ab—b FH=>KIF68. 2 BlF=>A#E67. 5 AHE>FKH68. 1

B K = OUT | IN [TOTAL] HC | NET | @m%® | &m
B BAEEH 38 39 77 14 63 |==vvrw| TR
2 if | I FEA 45 40 85 22 63 WER
36| mE®N | 42 | 41 83 19 | 64 B
Afi| wmmem | 37 | 39 | 76 11 65 i
5 fif all & 44 43 87 21 66 WEE




